B st k®E (O B EALHEELLRRA
Flr - #[R

FRAE| A 2 B |r on| A= AT [Fen2 e (X g
2> 2 3

— RABEEERESR S S TS U B RS

B 1 HAR R 5 B9 38 F e B R R M T 52 B 5 (assessment)? (25%)

= SROCRIAE R E AR - BOVEH T A BEERRAG 6
TR ZREE N RIS AR T A B E S by

#E ° 25%)

= KE BRI | SRR E ) A AR I
ARFAREERR BHVREL © 5 RS0 EH - IR R R RE R
SUSCEIEE 7 R AR TR B R 2 SR 2 o (25% )

0 AR BRI o3850 » a8 7 2 AT AR
@ IR SER SRS RS AR TR R Gen . 7
EENEAL AR - SRALS RS RIS + SR (S
BE » ST G S SR R T 0 AR A B

IS FESERR AL AR S © SERERIREL S8 1 2 (25% )

| T HERARELE . RTs -
" = BARH R -




